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Q1) Attempt any two parts of the following: [2 × 5 = 10]

a) Differentiate between production and productivity.

b) Define the causes of low productivity and how it can be improve.

c) Define the machine productivity.

Q2) Attempt any two parts of the following: [2 × 5 = 10]

a) Define work study and mention uses and limitations of work study.

b) Define method study and explain the normal time or basic time.

c) Define ergonomics and its advantages in Industries.

Q3) Attempt any two parts of the following: [2 × 5=10]

a) Write the symbols of

i) Storage

ii) Delay

iii) Inspection

iv) Transportation

b) Write the short notes of work measurement and work place layout.

c) Define time study. Explain any one time study equipment.

Q4) Attempt any two parts of the following: [2 × 5 = 10]

a) What is good wage system? Write its essential requirement.

b) What is incentive? Explain its types.

c) Define EOQ and write its formula to calculate the same.

Q5) Attempt any two parts of the following: [2 × 5 = 10]

a) Mechanical hazards.

b) Short note on fire fighting equipments

c) Short note on store management.
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O`o&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) CËnmXZ VWm CËnmXH$Vm ‘| AÝVa H$s{OE&

~) H$‘ CËnmXH$Vm Ho$ ³¶m-³¶m H$maU h¡? VWm CZH$mo H¡$go gwYma gH$Vo h¡?

g) ‘erZ CËnmXH$Vm ³¶m hmoVr h¡? BgH$m {dñVma go dU©Z H$s{OE&

à.à.à.à.à.2) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) H$m¶© AÜ¶¶Z H$s ì¶m»¶m H$ao§ VWm BgH$s hm{Z d Cn¶moJ ~Vm¶o&

~) {d{Y AÜ¶¶Z H$s ì¶m»¶m H$s{OE VWm g‘mÝ¶ g‘¶ ¶m ‘wb g‘¶ H$mo n[a^m{fV H$a|&

g) BaJmoZmo{‘H$g H$s {ddoMZm H$s{OE VWm CÚmoJm| ‘| BgHo$ bm^ ~VmB¶o&

à.à.à.à.à.3) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) {d{Y AÜ¶¶Z ‘| {ZåZ H$m gwMH$ ~Zm¶o :

i) ^§S>maZ

ii) Xoar

iii) {ZarjU

iv) n[adhZ

~) H$m¶©‘mnZ VWm H$m¶©ñWb b¡AmCQ> H$m dU©Z H$s{OE&

g) g‘¶ AÜ¶¶Z H$s ì¶m»¶m H$s{OE VWm {H$gr EH$ g‘¶ AÜ¶¶Z CnH$aU H$mo g‘PmEo&

à.à.à.à.à.4) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) EH$ AÀN>r ‘OXÿar àUmbr ³¶m h¡? VWm BgH$s ³¶m Amdí¶H$Vm hmoVr h¡?

~) àmoËgmhZ ³¶m hmoVm h¡? VWm ¶o {H$VZo àH$ma Ho$ hmoVo h¡? dU©Z H$s{OE&

g) EOQ H$mo g‘PmEo VWm BgH$s JUZm ‘| à¶w³V hmoZo dmbm gwÌ ^r {bI|&

à.à.à.à.à.5) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) ¶mpÝÌH$ hO©S>g&

~) AJ{Ze‘Z ¶§Ì H$m dU©Z H$s{OE&

g) ^§S>maZ à~§YZ na {Q>ßnUr&
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